JOVERNATION OF CHARACTERS

S/F/2/21/16360001/001

GOVT. COLLEGE BHOPALPATNAM

Post Matric ST Scholarship



Sanction Date : 31-12-2021

Sanction Type : Fresh

No.	App. ID	Student Name	Gender/Cate gory	Hostel/An nual Income		Monthl y Rate	Maintenan ce Allowance Total	ity	Tuition Fee	Other Fee	Total Fee	Total Scholarship	Bank Account Number
ours	e - B. A./	Arts/I											No.
1	21015862	ANIL KUMAR PARET	Male / ST	DS / 60000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	34990767761
2	21113466	CHANDRAKALA MADE	Female / ST	DS / 75000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	35015424797
3	21054758	HARISH KUMAR ALLEM	Male / ST	DS / 60000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	35986132129
4	21040671	JAYRAM HEMLA	Male / ST	HS / 60000	9	570.00	5130.00	0.00	0.00	1722.00	1722.00	6852.00	3952852532
5	21039319	MADAN HEMLA	Male / ST	HS / 70000	9	570.00	5130.00	0.00	0.00	1722.00	1722.00	6852,00	3968876656
6	21056990	MATTI SAKINA	Female / ST	DS / 65000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	34948208126
7	21070064	MICHCHA GAURU	Female / ST	DS / 52500	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	35402908959
8	21040473	NALI SANTOSH	Male / ST	DS / 31500	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	35196269446
9	21058825	NARENDRA GONDI	Male / ST	DS / 65000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422,00	35947351089
10	21058063	SURYAKALA ENJA	Female / ST	DS / 70000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	3949460550
urs	e - B. Sc.	/Maths/I					1		13-12-5	-	TO SERVICE		ATTICAL DESIGNATION OF THE PERSON OF THE PER
1	21104063	MICHCHA VIVEK	Male / ST	DS / 90000	9	300.00	2700.00	0.00	0.00	1722.00	1722.00	4422.00	77064155472
urs	e - B. Sc./	Science/I	and the second				-		a vol.	-	vector lists at	San Jan State	a - Holinaida
2	21051849	ANIL KUMAR KARTAM	Male / ST	HS / 60000	9	570.00	5130.00	0.00	0.00	1722.00	1722.00	6852.00	35593088151

Declaration:

Place Date:

Signature & Seal of Head of the Sanctioning Authority

This Sanction is generated by Scholarship Portal. Printed on 28/01/2022

PHEEL

lai

ifie I n Iar ida ith

**Government of Chhattisgarh** 

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

dius inio

Academic Year : 2020-21

Government of Chhattisgarh State:

Sanction Date: 21/01/2021 Applications Type : Fresh

plication ID Student N	lame Gende	r Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1758741 VINOD SODI	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1768914 ANIL KASHYAP	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1771471 BABLI SODI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1274	1274	3374
1771729 KORSA DINESH	Male	B. A./Arts/I	Fresh	. 7	300	2100	0	1274	1274	3374
1775732 VASAM POOJA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1274	1274	3374
1775792 PAVAN KUMAR PARI	ET Male	B. A./Arts/I	Fresh	7	300	2100	0	1274	1274	3374
1776810 DEEPIKA AALAM	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1274	1274	3374
1776851 AJAY KUMAR KURSA	M Male	B. Sc./Science/I	Fresh	7	300	2100	, 0	1314	1314	3414
1779774 MARPALLI DINESH	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1780160 VIJAY KURSAM	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1796340 PALLAVI MARPALLI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1796712 BHAVANI CHINTUR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1807873 RAJ KUMAR BADADI	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1810538 ARUN MADE	Male	B. Sc./Science/I	Fresh	7	300	2100	0,	1314	1314	3414
1812479 GOTE PRAMÍLA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1813082 SANTOSH ANGAMPA	LI Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414
1816402 YALAM RAJARAM	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1314	1314	3414

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 

Place: Date :

(Signature & Sear of Beaut of the Institution)

Name (Espital Levers & Read & Dixit

Bho palpatriam, Dist Bijannt (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/21/2021

RHC

Page 1/2

2

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name : GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year : 2019-20



Sanction Number: NIG/4341/2/7/92547

Sanction Date: 21/12/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
075964	VINOD KAKA	Male	B. A./Arts/I	Fresh	9	300	2700	0	1872	1872	457
11.000100010	VALVA DILEEP	Male	B. Sc./Science/I	Fresh	9	570	5130	0	1872	1872	700
	HARI KRISHNA YALAM	Male	B. Sc./Science/I	Fresh	9	570	5130	0	1872	1872	790
A AND A STATE OF THE PARTY OF T	The state of the s	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1872	1872	457
	SUPRIYA CHIDEM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1847	1847	4540
	DEWAR AWANTIKA	-	B. A./Arts/I	Fresh	9	300	2700	0	1847	1847	4540
	SANTOSHI KANTI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1847	1847	4540
	SUJATA YALAM	Female		Fresh	9	570	5130	0	1847	1847	697
1638664	MADHAVI KURSAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1872	1872	457
1638755	SANTOSH JAWWA	Maie	B. Sc./Science/I	Fresh	9	9	81	0	1872	1872	195
1638916	ANAMIKA SAKNE	Female	B. Sc./Science/I		q	570	5130	0	1847	1847	697
1639002	RAJANI PAYAM	Female	B. A./Arts/I	Fresh	9	570	5130	0	1872	1872	7002
1639064	LOKESH KADTI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1847	1847	4540
1639426	MAHENDRA KADIYAMEE	Male	B. A./Arts/I	Fresh	0	570	5130	0	1872	1872	7002
	BALRAM KORRAM	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1872	1872	457.
	ASHOK MADE	Male	B. Sc./Science/I	Fresh	9	570	5130	0	1847	1847	6977
	PRIYA PERE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1872	1872	700
	ANJALI PERE	Female	B, Sc./Science/I	Fresh	2						

Declaration:  Certified that students studying in this institution are entitled for post matric scholarship and after thorough the students studying in this institution are entitled for post matric scholarship as a maintenance as serial no. 1 to	
serial no. 1 to	(Signal Little & Seal of Head of the Institution)

Place:

Date :

MIC

Page 1/3

(Signature & Seal of Head of the Institution)
Name (Capital Leters): DR A.K. DixiT

This Sanction is generated by Scholarship Portal. Printed on 1/11/2020

3

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name : GOVT INDRAVATI COLLEGE BHOPALPATNAM Academic Year : 2018-19



Sanction Number: R/8/4341/2/7/87664

Sanction Date : 16/03/2019

Application II		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
116838	1 RAKESH TELAM	Male	B. A./Arts/III	Renewal	8	300	2400				
126032	1 KORAM SONA	Female -	B. Sc./Science/III	Renewal	9	570	2000	0	1572	1572	7.5
126042	4 SANGEETA GUMMADI	Female -	B. Sc./Science/III	Renewal	9	100	5130	0	1597	1597	672
126068	MINAKSHI SALAM	Female /	B. Sc./Science/III	Renewal		300	2700	0	1597	1597	429
1295608	NIRMALA WASAM	Female -	B. Sc./Science/III	198102747777	8	300	2400	0	1597	1597	3997
1000000	MICHCHA MAHESH	Male		Renewal	8	570	4560	0	1597	1597	6157
The second second	DEVRANJAN KORAM	100000	B. Sc./Science/III	Renewal	8	570	4560	0	1597	1597	6157
2000		Male	B. Sc./Science/III	Renewal	8	300	2400	0	1597	1597	3997
7	RENU KORAM	Female -	B. A./Arts/II	Renewal	8	300	2400	0	1572	1572	100000
100000000000000000000000000000000000000	RAMESH KUMAR KURSAM .	Male	B. A./Arts/II	Renewal	8	300	2400	0	1572	1572	
110000000000000000000000000000000000000	PADMA CHIDEM .	Female /	B. A./Arts/II	Renewal	8	300	2400	0	1572	1572	
1355966	SUNIL MATTI	Male	B, A./Arts/II	Renewal	8	300	2400	0	-	2000	7.00
1356140	REETA YALAM .	Female /	B. A./Arts/II	Renewal	8	570	4560		1572	1572	
1356315	AARTI BANDHAM -	Female	B. Sc./Science/II	Renewal	8	570	2.000	0	1572	1572	6132
1356382	PRABHAWATI ALAM .	Female /	B. Sc./Science/II	Renewal	7	10000	4560	0	1597	1597	6157
1.1.1.1.2.1.11.1.12.1	NARENDRA GOTE	Male	The second secon		8	300	2400	0	1597	1597	3993
	GEETANJALI KAKA	12 A S S S S S S S S S S S S S S S S S S	B. Sc./Science/II	Renewal	8	300	2400	0	1597	1597	3997
		Wer and	B. Sc./Science/II	Renewal	8	300	2400	0	1597	1597	399
1409/72 K	CISHOR MADDI	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1597	1597	1500

## Declaration:

rtified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from
ididate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts other regular scholarship/stipend the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experted to the fact will be immediately reported to the authority for experted to the authority for experte
other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.
to a second the additional and

Place : Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

This Sanction is generated by Scholarship Portal. Printed on 3/25/2019

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year : 2017 - 18



State : Gov ant of Chhattisgarh

Sanction Number: N/7/4341/2/7/83154 Sanction Date: 02/02/2018

pplications Type : Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
/ 1321950	MAHESH KUMAR MADE	Male _	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	3457
× 1352096	RENU KORAM	Female /	B. A./Arts/I	Fresh	8	300	2400	0		1057	3457
1352492	KAKA MANJULA	Female -	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	3457.
- 1352901	ANIL BANDHAM	Male	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	5617
1353103	MEENA KARTAM	Female	B. A./Arts/I	Fresh	8	570	4560	C	1057	1057	
- 1353388	VANDANA CHIDEM	Female:/	B. A./Arts/I	Fresh	8	300	2400	(	1057	1057	3457
1353826	RAMESH KUMAR KURSAM	Male ·	B. A./Arts/I	Fresh	8	300	2400		1057	1057	3457
- 1355425	KESHAV PALDEV	Male .	B. A./Arts/I	Fresh	8	300	2400		1057	1057	3457
- 1355589	RAVI VOLTAR TOPNO	Male ,	B. A./Arts/I	Fresh	8	300	240		0 1057	105	3457
1355798	SARITA CHIDEM	· Female /	B. A./Arts/I	Fresh	8	300	240	0	0 1057	105	7 3457
/ 1355877	PADMA CHIDEM	Female /	B. A./Arts/I	Fresh	8	30	240	0	0 1057	105	7 . 345
2 1355966	SUNIL MATTI-	- Male ·	B. A./Arts/I	Fresh	8	30	0 240	0	0 105	7 105	345
/ 1356042	BUDHRAM MICHCHA	Male ,	B. A./Arts/I	Fresh	8	57	0 456	0	0 105	7 105	57 561
1356140	REETA YALAM	- Female /	B. A./Arts/I	Fresh	8	57	0 456	50	0 105	7 10	57 561
- CONTRACTOR	HARISHANKAR MOURYA	Male	B. A./Arts/I	Fresh	8	30	00 24	00	0 105	7 10	57 34
Harmon Control	AARTI BANDHAM	Female /	B. Sc./Science/I	Fresh		5	70 45	60	0 107	72 10	72 56
THE PROPERTY OF	PRABHAWATI ALAM	Female /-	B. Sc./Science/I	Fresh	1	3	00 24	00	0 10	72 10	34

Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

NIC-

Page 1/3

This Sanction is generated by Scholarship Portal. Printed on 2/8/2018

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year : 2016 - 17



Government of Chhattisgarh

Sanction Number: N/6/4341/2/7/74034

Sanction Date: 30/12/2016 Applications Type: Fresh

plication ID		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
2000	8 KANTA GOTE	Female -	B. A./Arts/I	Fresh	8	300	2400	0	1142	1142	3542
1251474	4 RANJEETA JAWWA	Female	B. A./Arts/I	Fresh	8	300	2400	0	1142	1142	3542
1251530	ARANJEETA JAWWA	Female	B. A./Arts/I	Fresh	8	300	2400	0	1192	1192	3592 <
1252118	SANDEEP MATTI	Male -	B. A./Arts/I	Fresh	8	300	2400	0	1142	1142	3542
1252853	MAMTA YALAM	Female -	B. A./Arts/I	Fresh	8	300	2400	0	1142	1142	3542
1253105	CHAPA SHASHIKALA	Female *	B. A./Arts/I	Fresh	8	300	2400	0	1142	1142	3542
1260912	URMILA CHAPA	Female /	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1260988	AJIT KUMAR KANGE	Male.	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1261088	NAVAL KISHOR JAWWA	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1261182	SUBHASH KURSAM	Male	B. Sc./Science/1	Fresh	8	300	2400	0	1157	1157	3557
1295865	SARASWATI TINGE	Female -	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557,
1295992	INDRA KUMAR TALANDI	Male:	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1296111	KAKA SOMESHWAR	Malé	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1296206	KAMESH MANDAVI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1260685	MINAKSHI SALAM	Female -	B. Sc./Science/I	Fresh	8	300	2400	0	1157	1157	3557
1260829	SUNEETA TINGE	Female "	B. Sc./Science/I	Fresh	В	300	2400	C	1157	1157	3557
1296602	DEVRANJAN KORAM	Male	B. Sc./Science/I	Fresh	8	300	2400	) (	1157	115	3557

### **Declaration:**

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date : (Signature & Seal of Head of the Institution) Name (Capital Leters) :

Page 1/4

This Sanction is generated by Scholarship Portal, Printed on 1/24/2017